totalPwr/median

totalPwr/median

scan: 35/00191 az,za: 574.6 13.8 tm:19:06:10 pol A
T T T ‘ T T T ‘ T T T ‘ T T T ‘ [

M ' il i‘ W

I “ j I k il mw l" ‘ || il

l mwi e

ok 3 !ll'»‘"ﬂ'iu f
r"!l ||7|I\||]|}|yim|||| |i||l{l\llwu|| | ﬂl\HIIIWP'\M\ I Mm I WItl‘ﬂl‘l’"]lﬂlm

sample in strip



scan: 35/00194 az,za: 530.8 14.4 tm:19:29:06 pol A
T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T

sample in strip

4

I

B!

H\i* ; ""
iml.

| .
ulul’

m’

ul Mr e Mt

IIMH i
l..hiﬂ.!‘ uN”"‘I”'“Wlii‘Wii!h i

l W WWN !l llHWl l!l 'WMII |
| \lu HH

.M
&

W|

c 004

...*

H!H
”“H A

" nmlvnmnlrlll vmunllm

i:i

#

|l|\||lhu\|\r' u!

' M ‘ll!l \l\l \

iy

bl
ﬁ
i

| \HI mnu\mnm il
00 |\|¢ l
0

Somp\e 'm strip

|!|||||[



totalPwr/median

totalPwr/median

scan: 35/00197/ az,za: 528.6 14.4 tm:19:55:02 pol A
T ‘ T T T T T ‘ T T T ‘ T T T ‘ T T T

sample in strip

006 ’ *M | I ‘1 ﬁkl LW & i

it

R e

‘ H ”"‘ Mmmm I MW “”lﬂl] | I “! i i “'l”l'l
il M | | |



totalPwr/median

totalPwr/median

scan: 55700200 az,za: 504.6  13.7 tm:20:17:58 pol A
T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T

| medlLag0: 1.19 0.98 1.20 1.0/ 1.13 1.14 1.26
0.08 —

ey W

Pt |
o

0 200 400 600 800 1000
sample in strip

yywwnddWOWQQB p\ B

T T T ‘ T
= medLogO:W.27 WWO WO5 1.2 WW4 098 OO4

|

Il ‘

0.08

0,06w

o.thﬁ

—

MH

——

ii = _——=—n
=§Ei
4;%

Uilmlm

| Wlm
- m 1
Sl “m g

%

i f

|
0 200 400 600 800 1000
sample in strip



